Week 13: Second Declension part II: Neuter

Last week you were introduced to the Second Declension. This is a way of determining additional
information about words, such as whether they are the subject or direct object of a sentence, or whether
they tell something about the subject or direct object. You also covered the masculine form of Second
Declension. This week you will look at the neuter form of Second Declension.

Day 1: The definite article: Neuter

Case Singular Plural Translation
1 1 4 14
Eommatlve 0 & the
g;gmve/ Ablative TOU (same as masculine) TV (same as masculine) of/tg:m
Dative/Locative/Instrumental . ~ _ to/in/with
D/L/I T (same as masculine) | TOLG (same as masculine) the
i 4 14
ﬁccusatlve TO (same as nominative) | T (same as nominative) the

Day 2: The endings of the Second Declension: Neuter: iepdv, T6 as an example

e Neuter Second Declension: note: these endings are the same as the neuter definite article except
for the nominative singular and accusative singular.

Case | Singular Translation Plural | Translation
N \ 4 temple \ 4 temples
LEPOV (different than the LEpa (same)

definite article)

G/A ‘LSpOf) of /from temple ‘lsp(I)V of /from temples
(same)
D/L/I iEp({.) to/in/with temple ‘lngTQ to/in/z:;trl;l(’;;mples
A \ 4 temple \ 4 temples
LE p oV (different than the L& p a (same)

definite article)

Day 3: New word: Isee

14
. BAETIW
¢ Pronounced like this: ble (short e)-po (long o)
e This uses the Present Active Indicative endings that you can find in #7 below.

Day 4: New word: child

. TEKVOV, TO




e Pronounced like this: tek (short e)(like the tech in technical)-non (short o)(like the non in
nonsense)
e Itusesthe same endings as in Day 2: Neuter endings above.

Day 5: New word: gift

. S®pov, T

e Pronounced like this do (long o)(like in doe (a female deer))-ron (short o)(the ron rhymes with
the non in nonsense)

e Itusesthe same endings as in Day 2: Neuter endings above.

Day 6: Weekly Exercises:

1. t6 téxvov kal 0 ix0U¢ Kal TO lepOV Kal AOEAPOG KAl O KHPTOG
2a. BAéw 16 TEKVOV.

2b. BAEmw téKvOV.

2c. BAémw td TéKVA.

2d. BAémw tékva.

2e. TO Tekvov BAETEL TO TEKVOV.

2f. Ta tékva BAETTOVGL TO TEKVOV.

2g. Ta tekva BAeTOVGL TEKVOV.

3a. Beo6¢g fAETEL TO SWPOV ToU doUAoV.
3b. Oeoc AETEL TO SQDPOV T@V S0VAWV.
3c. Oedc BAETEL T SDPa TOD doTAov.
4a. To tekvov dkoVEL OE0g Tw Lepw.

4b. To tekvov akovel Beog lepw.

5. 'O matp AapBavel kapmdg tol ddeAoD.
6. XploToG KPIVEL TOV avBpwTIOV.

7a. ‘O ayyelog £xeL AdyoC.

7b. ‘OLayygdot ExovotL AdyoLl.

8. AauBavopev ixBov.

9. Spell: Aapfavopev

10. Spell: xBov

Answers
1. The child and the fish and the temple and a brother and the fruit.



Note: since “brother” does not have a definite article, it is translated as “a brother” instead of “the

brother.”
2a. I see the child.
2b. I'see a child.
Note: since “child” does not have a definite article, it is translated as “a child” instead of “the
child.”
2c. Isee the children.
2d. I see children.
2e. The child sees the child.
Note: the nominative (subject) and the accusative (direct object) have the same endings.
2f. The children see the child.
2g. The children see a child.
3a. God sees the gift of the servant. (or “the servant’s gift)
Note: The ending of the definite article of “servant” and of “servant” are the same. That usually
happens with definite articles and nouns.
3b. God sees the gift of the servants. (or “the servants’ gift)
It could also be: God sees the gift from the servants.
3c. God sees the gifts of the servant. (or “the servant’s gifts)
It could also be: God sees the gifts from the servant.
4a. The child hears God in the temple.
Note: Look at the chart for the neuter definite article in #9 below. You will see that tw is D/L/I
and so you can translate it with “to/in/with”. In this case “in” makes the most sense.
4b. The child hears God in a temple.
5. This one is tricky. It can have multiple meanings:
a. The father takes fruit from the brother.
b. The father receives fruit from the brother.
c. The father takes the brother’s fruit (the fruit of the brother).
d. The father receives the brother’s fruit (the fruit of the brother).
6. Christjudges the person.
7a. The messenger (or angel) has a word.
7b. The messengers (or angels) has words.
8. We take (or receive) a fish.
9. lambda-alpha-mu-beta-alpha-nu-omicron-mu-epsilon-nu
10. iota-chi-theta-omicron-nu

What you have learned so far

1. Alphabet
Greek small | Greek capital English
alpha short a
beta b
gamma g
delta d

epsilon | shorte

zeta Z

N O R
N> ||| >




n H eta ay
0 ® theta th
L I iota i/ee
K K kappa k
)\ A lambda 1
u M mu m
v N nu n
E = Xi X
0 O omicron 0
m I i b
D P rho r
o g Z sigma S
T T tau t
v Y' upsilon u
Lp Wy phi ph
X X chi ch
[0 (6)) psi ps
W o) omega | longo

2. Breathing marks and “h” sound: week 2
3. Accents: week 2
4. Diphthongs from letters we have covered so far:

e EL OL OL UL

¢ You can memorize them if you want. Or you can wait and I will tell you if each new word has a
diphthong or not.
5. Definite article

L

e (O Thisis the masculine definite article and will be in front of masculine nouns.
LY

° T] This is the feminine definite article and will be in front of feminine nouns.

o T(,) This is the neuter definite article and will be in front of neuter nouns.
6. “A”
e Greek does not have a word for “a”
7. Present Active Indicative endings
| PIA \ singular \ plural




first 2 4
person EXW EXOUEV

[ have we have

[ am having we are having
second | gye ¢ gyete

person

you (singular) have
you are having

you (plural) have
you are having

third 14 24
verson | EXEL exovol(v)
he/she/it has they have
he/she/itis having | they are having
infinitive => | €yewv
to have

) 7
8. Present active indicative of Elul.

PIA singular plural
first ? ot 2 A
person ELUL EOUEV

[am we are
second 8,[ é GTé
person

you (singular) are you (plural) are
third T¢61i(v) gloi(v)
person E

he/she/it is they are

infinitive => | elvat

to be

9. Masculine definite article: The endings of nouns will be similar

Case Singular | Plural Translation
Nominative (‘) O‘l the
Genitive/Ablative 00 | TGV of /from the
Dative/Locative/Instrumental T q) T Otg to/in/with the
Accusative T (’)V T 01’) G the

10. Neuter definite article: The endings of nouns will be similar

Case Singular Plural Translation
Eominative T (’) T d the
g;gltwe/ Ablative TOU (same as masculine) TV (same as masculine) of/tg:m




Dative/Locative/Instrumental ~ . + . to/in/with
D/L/I T (same as masculine) | TOLG (same as masculine) the

A ti 4 4 th
Accusa tve TO (same as nominative) | T (same as nominative) €

11. Second Declension Endings: Masculine

Case Singular Plural
N lavBpwmog | avBpoTot
(same ending as the
definite article)
G/A 1 avBpwTov | AvOp®TIWV
(same ending as the
definite article)
DL qvBp e | dvBpwTToLg
(same ending as the
definite article)
A

avlpwToV | dvOpwTOoUG

(same ending as the
definite article)

12. Second Declension Endings: Neuter

Case | Singular Plural
N ligpov | igpa
G/A L ~ |t ~

LEPOV | LEQWV
P/LT iep® | igpolg
A iepdv | iepd
Vocabulary

aSeA@0bg, 0 brother

ayyelog, 0 messenger, angel
dkovw I hear

avlpwTog, 0
BAémtw Ise

doUAog, 0

d®pov, TO

man/human/person/human being

e

servant/slave

gift




elut  Tam
gxw Ihave

| or
nuepa, N day
0eog, 0 God

lepov, T0  temple

‘Inocobg  Jesus

(x6V¢g, 0 fish

kal and

Kaptog, 0 fruit

kplvw Tjudge

AauBavw I take, receive

Aéyw Isayorlspeak

AOYO0G, 0  word

01’), oV K, 01,)X NOT before a consonant, before smooth breathing, before rough breathing

L

matnp, 0 father
owTtnp,0 savior
TEKVOV, TO child
LLOG, O son
Xplotog, 0 Christ



